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<latexit sha1_base64="6K+Ams7AaoELaw9nycgNx6B4kwc="></latexit><latexit sha1_base64="6K+Ams7AaoELaw9nycgNx6B4kwc="></latexit><latexit sha1_base64="6K+Ams7AaoELaw9nycgNx6B4kwc="></latexit><latexit sha1_base64="6K+Ams7AaoELaw9nycgNx6B4kwc="></latexit>

3.37MeV
<latexit sha1_base64="3l3BMwmC6JnLvsTz3j+dOmcxnHA="></latexit><latexit sha1_base64="3l3BMwmC6JnLvsTz3j+dOmcxnHA="></latexit><latexit sha1_base64="3l3BMwmC6JnLvsTz3j+dOmcxnHA="></latexit><latexit sha1_base64="3l3BMwmC6JnLvsTz3j+dOmcxnHA="></latexit>

�
<latexit sha1_base64="8Y5XGkcC2kNWQPt7gXv4LujJi+I="></latexit><latexit sha1_base64="8Y5XGkcC2kNWQPt7gXv4LujJi+I="></latexit><latexit sha1_base64="8Y5XGkcC2kNWQPt7gXv4LujJi+I="></latexit><latexit sha1_base64="8Y5XGkcC2kNWQPt7gXv4LujJi+I="></latexit>
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150Nd
<latexit sha1_base64="1L1n3znetSq5lGwDN7oNVfOxqPM="></latexit><latexit sha1_base64="1L1n3znetSq5lGwDN7oNVfOxqPM="></latexit><latexit sha1_base64="1L1n3znetSq5lGwDN7oNVfOxqPM="></latexit><latexit sha1_base64="1L1n3znetSq5lGwDN7oNVfOxqPM="></latexit>
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<latexit sha1_base64="5Og4M7donyxShTXhLnNTI0EcRVs="></latexit><latexit sha1_base64="5Og4M7donyxShTXhLnNTI0EcRVs="></latexit><latexit sha1_base64="5Og4M7donyxShTXhLnNTI0EcRVs="></latexit><latexit sha1_base64="5Og4M7donyxShTXhLnNTI0EcRVs="></latexit>

��0�*@-;$�,1
�+>	9243
 ��� /�4
4��'!8B��7"�

<latexit sha1_base64="8Y5XGkcC2kNWQPt7gXv4LujJi+I="></latexit><latexit sha1_base64="8Y5XGkcC2kNWQPt7gXv4LujJi+I="></latexit><latexit sha1_base64="8Y5XGkcC2kNWQPt7gXv4LujJi+I="></latexit><latexit sha1_base64="8Y5XGkcC2kNWQPt7gXv4LujJi+I="></latexit>
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Z
<latexit sha1_base64="6YCnmwPPFTBzg6lkyd6GCeub224="></latexit><latexit sha1_base64="6YCnmwPPFTBzg6lkyd6GCeub224="></latexit><latexit sha1_base64="6YCnmwPPFTBzg6lkyd6GCeub224="></latexit><latexit sha1_base64="6YCnmwPPFTBzg6lkyd6GCeub224="></latexit>

UI�D9/0B
<latexit sha1_base64="kLoZ/rdHQZ/ParUv3Pj6GjPfxXw="></latexit><latexit sha1_base64="kLoZ/rdHQZ/ParUv3Pj6GjPfxXw="></latexit><latexit sha1_base64="kLoZ/rdHQZ/ParUv3Pj6GjPfxXw="></latexit><latexit sha1_base64="kLoZ/rdHQZ/ParUv3Pj6GjPfxXw="></latexit>
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<latexit sha1_base64="8Y5XGkcC2kNWQPt7gXv4LujJi+I="></latexit><latexit sha1_base64="8Y5XGkcC2kNWQPt7gXv4LujJi+I="></latexit><latexit sha1_base64="8Y5XGkcC2kNWQPt7gXv4LujJi+I="></latexit><latexit sha1_base64="8Y5XGkcC2kNWQPt7gXv4LujJi+I="></latexit>
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X
<latexit sha1_base64="7j/y7st6j8tYkZsG6OHXmf5i2Sg="></latexit><latexit sha1_base64="7j/y7st6j8tYkZsG6OHXmf5i2Sg="></latexit><latexit sha1_base64="7j/y7st6j8tYkZsG6OHXmf5i2Sg="></latexit><latexit sha1_base64="7j/y7st6j8tYkZsG6OHXmf5i2Sg="></latexit>

 ��!�60(
 �����#� ��,2$6
 �:�����#� ��,2$6

Y
<latexit sha1_base64="x71DCpfOGQavzN3dAxdMMKSa6jQ="></latexit><latexit sha1_base64="x71DCpfOGQavzN3dAxdMMKSa6jQ="></latexit><latexit sha1_base64="x71DCpfOGQavzN3dAxdMMKSa6jQ="></latexit><latexit sha1_base64="x71DCpfOGQavzN3dAxdMMKSa6jQ="></latexit>

Z
<latexit sha1_base64="6YCnmwPPFTBzg6lkyd6GCeub224="></latexit><latexit sha1_base64="6YCnmwPPFTBzg6lkyd6GCeub224="></latexit><latexit sha1_base64="6YCnmwPPFTBzg6lkyd6GCeub224="></latexit><latexit sha1_base64="6YCnmwPPFTBzg6lkyd6GCeub224="></latexit>

%8@
15=7
*?:+
:��'
%8��"��

p[MeV/c]
<latexit sha1_base64="a0ujRxUxAiUPS5a/dNLt/eXbTSM="></latexit><latexit sha1_base64="a0ujRxUxAiUPS5a/dNLt/eXbTSM="></latexit><latexit sha1_base64="a0ujRxUxAiUPS5a/dNLt/eXbTSM="></latexit><latexit sha1_base64="a0ujRxUxAiUPS5a/dNLt/eXbTSM="></latexit>

B[kG]
<latexit sha1_base64="xNxRqsWLGrg7/f8Yi6AgpfJDPrk="></latexit><latexit sha1_base64="xNxRqsWLGrg7/f8Yi6AgpfJDPrk="></latexit><latexit sha1_base64="xNxRqsWLGrg7/f8Yi6AgpfJDPrk="></latexit><latexit sha1_base64="xNxRqsWLGrg7/f8Yi6AgpfJDPrk="></latexit>

r[cm]
<latexit sha1_base64="ddxWv6ZBKWJK6UHiIbVeDYD3Qz8="></latexit><latexit sha1_base64="ddxWv6ZBKWJK6UHiIbVeDYD3Qz8="></latexit><latexit sha1_base64="ddxWv6ZBKWJK6UHiIbVeDYD3Qz8="></latexit><latexit sha1_base64="ddxWv6ZBKWJK6UHiIbVeDYD3Qz8="></latexit>

T [MeV]
<latexit sha1_base64="g2ByGjR4egxImcqHJc6FEjnYDkY="></latexit><latexit sha1_base64="g2ByGjR4egxImcqHJc6FEjnYDkY="></latexit><latexit sha1_base64="g2ByGjR4egxImcqHJc6FEjnYDkY="></latexit><latexit sha1_base64="g2ByGjR4egxImcqHJc6FEjnYDkY="></latexit>

�
<latexit sha1_base64="c3fLvnAkmyluocWhvLncx5IEBJM="></latexit><latexit sha1_base64="c3fLvnAkmyluocWhvLncx5IEBJM="></latexit><latexit sha1_base64="c3fLvnAkmyluocWhvLncx5IEBJM="></latexit><latexit sha1_base64="c3fLvnAkmyluocWhvLncx5IEBJM="></latexit>
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&)93< pt = 0.3rB
<latexit sha1_base64="A4zV9V7aK9Wdlhw0/0JpIJtahvA="></latexit><latexit sha1_base64="A4zV9V7aK9Wdlhw0/0JpIJtahvA="></latexit><latexit sha1_base64="A4zV9V7aK9Wdlhw0/0JpIJtahvA="></latexit><latexit sha1_base64="A4zV9V7aK9Wdlhw0/0JpIJtahvA="></latexit>

3<Z
<latexit sha1_base64="6YCnmwPPFTBzg6lkyd6GCeub224="></latexit><latexit sha1_base64="6YCnmwPPFTBzg6lkyd6GCeub224="></latexit><latexit sha1_base64="6YCnmwPPFTBzg6lkyd6GCeub224="></latexit><latexit sha1_base64="6YCnmwPPFTBzg6lkyd6GCeub224="></latexit>

pZ = pt tan�
<latexit sha1_base64="bYjoAN+e8ccajqKGwjSonE0eTxI="></latexit><latexit sha1_base64="bYjoAN+e8ccajqKGwjSonE0eTxI="></latexit><latexit sha1_base64="bYjoAN+e8ccajqKGwjSonE0eTxI="></latexit><latexit sha1_base64="bYjoAN+e8ccajqKGwjSonE0eTxI="></latexit>

%8��"�� T =
q
p2t + p2Z +m2

e �me
<latexit sha1_base64="Yv0tvbEDyA3r243qP/40Fwq87w8="></latexit><latexit sha1_base64="Yv0tvbEDyA3r243qP/40Fwq87w8="></latexit><latexit sha1_base64="Yv0tvbEDyA3r243qP/40Fwq87w8="></latexit><latexit sha1_base64="Yv0tvbEDyA3r243qP/40Fwq87w8="></latexit>
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9+536

0⌫��
<latexit sha1_base64="Uc34vVsphCd9Sim7tSmr8Nw32qY="></latexit><latexit sha1_base64="Uc34vVsphCd9Sim7tSmr8Nw32qY="></latexit><latexit sha1_base64="Uc34vVsphCd9Sim7tSmr8Nw32qY="></latexit><latexit sha1_base64="Uc34vVsphCd9Sim7tSmr8Nw32qY="></latexit>

2/B

2⌫��
<latexit sha1_base64="bfBoGJRONUU0IH2vAaPE6cSTvUw="></latexit><latexit sha1_base64="bfBoGJRONUU0IH2vAaPE6cSTvUw="></latexit><latexit sha1_base64="bfBoGJRONUU0IH2vAaPE6cSTvUw="></latexit><latexit sha1_base64="bfBoGJRONUU0IH2vAaPE6cSTvUw="></latexit>
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,B	� 100Mo
<latexit sha1_base64="Sefsqoyj+hajL3LVTvlsXIYBO3Y="></latexit><latexit sha1_base64="Sefsqoyj+hajL3LVTvlsXIYBO3Y="></latexit><latexit sha1_base64="Sefsqoyj+hajL3LVTvlsXIYBO3Y="></latexit><latexit sha1_base64="Sefsqoyj+hajL3LVTvlsXIYBO3Y="></latexit>

()	 0.8kG
<latexit sha1_base64="9pA87kpNdfZhPkoFDtdjgyHohn8="></latexit><latexit sha1_base64="9pA87kpNdfZhPkoFDtdjgyHohn8="></latexit><latexit sha1_base64="9pA87kpNdfZhPkoFDtdjgyHohn8="></latexit><latexit sha1_base64="9pA87kpNdfZhPkoFDtdjgyHohn8="></latexit>

��3-/02�5�4��8C3

��DA2*�.- 1

3����.+	����

:���A"	 6mm
<latexit sha1_base64="mcZiCvsNG7zzflsS7hjr5oWnrVM="></latexit><latexit sha1_base64="mcZiCvsNG7zzflsS7hjr5oWnrVM="></latexit><latexit sha1_base64="mcZiCvsNG7zzflsS7hjr5oWnrVM="></latexit><latexit sha1_base64="mcZiCvsNG7zzflsS7hjr5oWnrVM="></latexit>
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150Nd
<latexit sha1_base64="1L1n3znetSq5lGwDN7oNVfOxqPM="></latexit><latexit sha1_base64="1L1n3znetSq5lGwDN7oNVfOxqPM="></latexit><latexit sha1_base64="1L1n3znetSq5lGwDN7oNVfOxqPM="></latexit><latexit sha1_base64="1L1n3znetSq5lGwDN7oNVfOxqPM="></latexit>

�,�)�31�TA 6mm
<latexit sha1_base64="mcZiCvsNG7zzflsS7hjr5oWnrVM="></latexit><latexit sha1_base64="mcZiCvsNG7zzflsS7hjr5oWnrVM="></latexit><latexit sha1_base64="mcZiCvsNG7zzflsS7hjr5oWnrVM="></latexit><latexit sha1_base64="mcZiCvsNG7zzflsS7hjr5oWnrVM="></latexit>

3mm
<latexit sha1_base64="IA3453o3m/NbWWyHfg5WsGlCzBM="></latexit><latexit sha1_base64="IA3453o3m/NbWWyHfg5WsGlCzBM="></latexit><latexit sha1_base64="IA3453o3m/NbWWyHfg5WsGlCzBM="></latexit><latexit sha1_base64="IA3453o3m/NbWWyHfg5WsGlCzBM="></latexit>

!C*"�P/N�9C

�A -D�E�HJ � ��

�=D�H4
�:I3�;B�M<�6?

0.8kG
<latexit sha1_base64="9pA87kpNdfZhPkoFDtdjgyHohn8="></latexit><latexit sha1_base64="9pA87kpNdfZhPkoFDtdjgyHohn8="></latexit><latexit sha1_base64="9pA87kpNdfZhPkoFDtdjgyHohn8="></latexit><latexit sha1_base64="9pA87kpNdfZhPkoFDtdjgyHohn8="></latexit>

2kG
<latexit sha1_base64="5nr1M+l0SqFHbL7/IY8TRIY60cI="></latexit><latexit sha1_base64="5nr1M+l0SqFHbL7/IY8TRIY60cI="></latexit><latexit sha1_base64="5nr1M+l0SqFHbL7/IY8TRIY60cI="></latexit><latexit sha1_base64="5nr1M+l0SqFHbL7/IY8TRIY60cI="></latexit>

RF.LO5�>@

��
)�.��M2

4(X) 1 48(Y) 1 48(Z) cm3/chamber: 8 chamber 
4(X) 1 28(Y) 1 48(Z) cm3/chamber: 4 chamber 
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1+�� 55Fe
<latexit sha1_base64="P9GRss976Np6XV5NaRfw43+N5Hc="></latexit><latexit sha1_base64="P9GRss976Np6XV5NaRfw43+N5Hc="></latexit><latexit sha1_base64="P9GRss976Np6XV5NaRfw43+N5Hc="></latexit><latexit sha1_base64="P9GRss976Np6XV5NaRfw43+N5Hc="></latexit>

(5.9keV)
<latexit sha1_base64="CnHouFrrE/2Z5tgP8seZaF+KIWM="></latexit><latexit sha1_base64="CnHouFrrE/2Z5tgP8seZaF+KIWM="></latexit><latexit sha1_base64="CnHouFrrE/2Z5tgP8seZaF+KIWM="></latexit><latexit sha1_base64="CnHouFrrE/2Z5tgP8seZaF+KIWM="></latexit>
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i<C�F-8SF 
c=

:<!X=
:<!g=

BA%F He(85%) + CO2(15%)
<latexit sha1_base64="ORWbbFlgaCjvzkG6T1EF2yQ3/4U="></latexit><latexit sha1_base64="ORWbbFlgaCjvzkG6T1EF2yQ3/4U="></latexit><latexit sha1_base64="ORWbbFlgaCjvzkG6T1EF2yQ3/4U="></latexit><latexit sha1_base64="ORWbbFlgaCjvzkG6T1EF2yQ3/4U="></latexit>

Ar(90%) + CH4(10%)
<latexit sha1_base64="/yPk+X2o8EVayT1WjzX8n9AXsCs="></latexit><latexit sha1_base64="/yPk+X2o8EVayT1WjzX8n9AXsCs="></latexit><latexit sha1_base64="/yPk+X2o8EVayT1WjzX8n9AXsCs="></latexit><latexit sha1_base64="/yPk+X2o8EVayT1WjzX8n9AXsCs="></latexit>

(P10)
<latexit sha1_base64="pMT+pV3GnjW/r3fwPrKBZWSzQNo="></latexit><latexit sha1_base64="pMT+pV3GnjW/r3fwPrKBZWSzQNo="></latexit><latexit sha1_base64="pMT+pV3GnjW/r3fwPrKBZWSzQNo="></latexit><latexit sha1_base64="pMT+pV3GnjW/r3fwPrKBZWSzQNo="></latexit>

e?

C8.8D

�)�4 M
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#$MT8�14
6*:55Fe

<latexit sha1_base64="P9GRss976Np6XV5NaRfw43+N5Hc="></latexit><latexit sha1_base64="P9GRss976Np6XV5NaRfw43+N5Hc="></latexit><latexit sha1_base64="P9GRss976Np6XV5NaRfw43+N5Hc="></latexit><latexit sha1_base64="P9GRss976Np6XV5NaRfw43+N5Hc="></latexit> #$MT8

M =
(ॳిظՙྔ [C])

(૿෯ޙͷిՙྔ [C])
<latexit sha1_base64="aO92HDOyshfEaSmaOT/+EznkHO8="></latexit><latexit sha1_base64="aO92HDOyshfEaSmaOT/+EznkHO8="></latexit><latexit sha1_base64="aO92HDOyshfEaSmaOT/+EznkHO8="></latexit><latexit sha1_base64="aO92HDOyshfEaSmaOT/+EznkHO8="></latexit>

M = 1.1⇥ 104
<latexit sha1_base64="kQAV14fJs33dlDCZENonrIRR+fk="></latexit><latexit sha1_base64="kQAV14fJs33dlDCZENonrIRR+fk="></latexit><latexit sha1_base64="kQAV14fJs33dlDCZENonrIRR+fk="></latexit><latexit sha1_base64="kQAV14fJs33dlDCZENonrIRR+fk="></latexit>

)O�! (P/%C�"'�.H9
2.5 (ADC count)

<latexit sha1_base64="CwVAA+Y+Je/W/koeYmzDyEZoJwY="></latexit><latexit sha1_base64="CwVAA+Y+Je/W/koeYmzDyEZoJwY="></latexit><latexit sha1_base64="CwVAA+Y+Je/W/koeYmzDyEZoJwY="></latexit><latexit sha1_base64="CwVAA+Y+Je/W/koeYmzDyEZoJwY="></latexit>

�

M = 4.5⇥ 104
<latexit sha1_base64="WTr5LYLgiQZK7A9jepa3jUt13zo="></latexit><latexit sha1_base64="WTr5LYLgiQZK7A9jepa3jUt13zo="></latexit><latexit sha1_base64="WTr5LYLgiQZK7A9jepa3jUt13zo="></latexit><latexit sha1_base64="WTr5LYLgiQZK7A9jepa3jUt13zo="></latexit>

� 46 (ADC count)
<latexit sha1_base64="eHfpJUHgmxa8zB1PyKgcDbrY/Ek="></latexit><latexit sha1_base64="eHfpJUHgmxa8zB1PyKgcDbrY/Ek="></latexit><latexit sha1_base64="eHfpJUHgmxa8zB1PyKgcDbrY/Ek="></latexit><latexit sha1_base64="eHfpJUHgmxa8zB1PyKgcDbrY/Ek="></latexit>
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�� ($!�$) 0V
<latexit sha1_base64="ywSD1q9sH4HDYXr3Nk/RnAZezXM="></latexit><latexit sha1_base64="ywSD1q9sH4HDYXr3Nk/RnAZezXM="></latexit><latexit sha1_base64="ywSD1q9sH4HDYXr3Nk/RnAZezXM="></latexit><latexit sha1_base64="ywSD1q9sH4HDYXr3Nk/RnAZezXM="></latexit> �BE6 �C> �300V

<latexit sha1_base64="dHp32n64wTVKWGDMYNLZm+MGlxA="></latexit><latexit sha1_base64="dHp32n64wTVKWGDMYNLZm+MGlxA="></latexit><latexit sha1_base64="dHp32n64wTVKWGDMYNLZm+MGlxA="></latexit><latexit sha1_base64="dHp32n64wTVKWGDMYNLZm+MGlxA="></latexit>
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M1*%@? 5�
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8; "#A89� 46(count)

<latexit sha1_base64="j644UETYpASNkGqFPiaRh6tfdDY="></latexit><latexit sha1_base64="j644UETYpASNkGqFPiaRh6tfdDY="></latexit><latexit sha1_base64="j644UETYpASNkGqFPiaRh6tfdDY="></latexit><latexit sha1_base64="j644UETYpASNkGqFPiaRh6tfdDY="></latexit>
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